H & 0l & AHS B Ml A

ol MIRET MHIA A (crel @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ra=INESH, 6,008,506 6,416,263 AN407,757
= 2,775,209
== 295,530
Al 2,937,767
NH#HY EXNZEHIERRGNL/ X SXCAl) 892,479 909,071 A16,592
= 172,509
== 2,500
Al 717,470
AHAH ANHIA ghat 77,552 79,200 1,648
= 40,250
Al 37,302
HESAIXIIH Eot 42,600 40,000 2,600
= 19,500
Al 23,100
201 er2 3| 41,600 37,888 3,712
= 19,500
Al 22,100
01 At 2|l 39,000 36,228 3,772
OuEXIL HE+2
45,8002 26,0002 XI/45 26,463
= 13,232
Al 13,231
OgA & 012uld HE++2
45,8002 * 1102 XI%50% 2,519
= 1,259
Al 1,260
Ottd & H28CH &9 2258 7Y
334,500 *45 1,338
= 669
Al 669
OgA & 012d 82 &% M
70,0002 x 1374 2 +43] 3,640
= 1,820
Al 1,820
ORSIIASAIRIEE H&+E
70,0002 x0H +83] 5,040
= 2,520
Al 2,520
2 s5=34l 2,600 2,660 260
OMNESAIXIEAM RS SH2
af 296,000 1 2%
OSANIRE & HAE2ACIAMAE 72+
192,000« 128 2,304
202 04| 1,000 2,112 A1,112

01 =LHA LI 1,000 2,112 A1,112




SN AR
3 NEAI Y EXNYEHIEXNANL/RNAL Al
el XIS MBlA & (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHNESAIXIL 2=
100,000& x2& #53] 1,000
EXgel & 2SS4 2,900 5,642 N2, 742
201 er=23y| 1,300 4,114 A2,814
01 AtR2t2|HI 1,000 3,832 AN2,832
OFSadEe g8 225 728
500,000 x224 1,000
02 S52g4l 300 282 18
ORS&Hezel A2 SH2/H|
150,000& 2 300
202 04l 600 528 72
NET T 600 528 72
ORSA HealD P2s
100, 0002 2 »32] 600
203 =4l 1,000 1,000
03 A=A 2= 1,000 1,000
OEXZ2 Y BE4 L2XX
1,000,000 1,000
INESFSF 5,800 7,032 1,232
201 er23| 4,800 5,800 21,000
01 At2teltl 4,800 5,800 1,000
ONHTA ADE ATE 7Y
200,000 45 800
OXIHLAX 2| =&
400,000& *10Z X| 4,000
202 04| 1,000 1,232 A232
01 =LH LI 1,000 1,232 N232
OXHLAKM g
100,000& »2& *52] 1,000
A & EXME 26,252 26,526 N2T4
= 20,750
Al 5,502
201 fet= 3| 23,052 22,302 750
= 20,750
Al 2,302
01 AtR2te|Hl 22,575 21,825 750
OXNHYR A5 7Y 500,000 ~2CH 1,000
Os2 XNHIIES it 20,750,000 20,750
= 20,750
O EHl dsaA 275,000 «30H 825
2 s3=234l 477 arr 0
OXNAESd B AL L&Y SHIH
159,000 *3¢2! 477
202 04dl 3,200 4,224 1,024




NRSH D EXNESoHREUX AL/ X AL EAI)
ANHHH MHIA etaf EER=E)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
01 =LHO4 L] 3,200 4,224 1,024
OXI&zte| gRFa
100,000 2% x2 2 +83| 3,200
PNESERES 478,79 482,023 A3,224
= 132,259
Al 346,540
K= THZAFAFS (KEA) 346,540 339,368 7,172
201 B2 AY| 44,440 37,080 7,360
01 AFR222ld| 40,240 31,080 9,160
OXIEMEAIRIZE], ZHZEE/ARS| &4
70,0003 *11H#43] 3,080
OXIETHEAAE ZEZ 2EEI =3
45,0002 3602 X[+204 7| 2 32,400
OXIETHEZAL J|E=& D&Y
56,0003 854 4,760
02 324l 4,200 6,000 21,800
OXNEEAL SERZ 300,000& *143] 4,200
202 0idl 2,100 2,288 188
01 =WO4bI 2,100 2,288 A 188
OXNEMEA SN 27 & ZAHES
100,000 3% x2 2 23| 1,200
OXIEMZAL EXEHE &
100,000& *3EF *33| 900
301 LetENZ 300,000 300,000
14 J|Et2 43 300,000 300,000
OXIETHEAASY 2FZ2
1,500,000& x200E X| 300,000
KIETHEAFA 132,259 142,655 A10,3%
= 132,259
201 Ler23H| 6,298 6,793 AN495
= 6,298
01 A=R2teld| 6,298 6,793 AN495
OXNETHEAAIE 2| 6,298,000 6,298
= 6,298
308 AtXIHMSOI & 125,961 135,862 A9,901
= 125,961
13 BI |2 SUICHEH B A E L EFALAH] 125,961 135,862 A9,901
OXIETHEAL F&I 125,961,000& 125,961
= 125,961
=22t 823t 336, 128 347,848 A11,720
= 2,500
Al 333,628
CE2HFAAY 147,057 134,578 12,479
& 2,500




FA AL
B NHHED EXNEDH(REUTSNL/ AL A
&l Z2t HESt (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 144,557
201 er23y| 5,605 10,035 A4,430
01 AtR2t2|HI 3,605 8,035 A4,430
OEzgxF4 82 2,000
oL2HFA EESMH
4,000 *500H 2,000
OFA3ERA-e BH+E
70,0002 x4 +13] 280
O=2HF4 MIAMNRID] 225 Y
250,000 x25+13] 500
OXEEI|A3 QX+
165,000 52 825
2 s5=4g4l 2,000 2,000 0
OEEIIAT K2 2,000,000& 2,000
202 04dl 1,200 1,584 N384
01 2L AL 1,200 1,584 N384
OL2YFANMNY JRFA
100,000 x2& +x2 2 +33] 1,200
308 AHXIHMSO0IA 64,790 51,497 13,293
13 SV I2S0He 4 A AS A 64,790 51,497 13,293
OgH=a 715 & FAHEI2E |FA2
2l 12,713,000& 12,713
OKAISTHAILE 1= & FAl2te
52,077,000& 52,077
401 Al HIZ S OHbI 73,962 71,462 2,500
== 2,500
Al 71,462
01 Al&HI 73,962 71,462 2,500
OFAEEAEE KRX2e 73,962
oFAFEANL HE & FH
29,329,000& 29,329
= 2,500
Al 26,829
o ZEHFA QHHAIEZ LHIZA
43,273,000 43,273
cASHSE M (&)
6,000 *110H 660
ocHEHSE ANEX ¢
700,000 12 700
405 AtatsE = 1,500 1,500
01 TR ESFSHI 1,500 1,500
OYRE(KAIS) 2171 HES PC 7Y
1,500,000& 1,500
Ag HME & &l 3,030 3,138 2108
201 er23 | 1,730 1,730 0




FA AL
B NHHED EXNEDH(REUTSNL/ AL A
el =2 238t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,730 1,730 0
ONYZN TPES A2E 7
520,000& 520
OXNExEA M= 510,000 510
ONSIAS BIOBA £
70,0002 x5 #23] 700
202 04l 800 704 %
01 2LHoIH 800 704 %6
OoXgge =& 100,000& x2& »23] «2F 800
301 EtE N = 500 704 N204
11 #AIAHIXIZ S 500 704 N204
OXIEAY XY UH2EAL & =pIojHAE
500,000 500
SUHEEAIAESE 2. 2 86,837 80,359 6,478
201 =3 85,837 79,303 6,534
01 At22t2lt] 1,040 1,040 0
OBAHDAAEY 28 42E 79
1,040,000 1,040
2 5234l 84,797 78,263 6,534
O32LEE AZEN |NES
52,070,000& 52,070
OXHE Lt SHEA =24
29,427,000 29,427
OXHEMY g2e5)| A2+
3,300,000& 3,300
202 04l 1,000 1,05 A56
01 =LHAHI 1,000 1,056 A56
O=2U3E dH3|9 & &4
100,000 x2& +53] 1,000
SUHEE ol 2= 85,440 115,713 A30,273
201 et 3| 1,540 28,540 A27,000
01 At22t2l] 1,540 28,540 227,000
OXlotAEE CHEH 228 7Y
260,000 x4 1,040
OEEgdEY 228 7Y
100,000 *5H 500
202 048l 1,400 1,408 A8
01 2L AH| 1,400 1,408 A8
OZ2EZU0IE IS SEEA
100,000& 2 +73] 1,400
401 Al HIZL S 0HYI 82,500 85,765 A3,265
01 Al&HI 82,500 85,000 22,500
O==2JIetNotAEE BSitig 15
82,500,000 82,500
SSUSESREALY 2 13,764 14,060 N2%6




od
i’
oF
uJ

818 e BIB[B|<|< 818 818 218 81388 218 )
SRS ©le | J1< S| S|S TI9|C S| o
o |49 55| b ES 3 QL &
KIo [ <] <
E
E=)
38 3 g1g1£18!8 B8 318 e|°e 21818 318 8
S| 2! SR NS St S| AR S| 2
< | — [QN] I | — || — | — O | © [ap N las XN lep] o 1O
il h
RIS
I8 S ¥ 2881888 28 8 3|88 188 81818 2818188 21818 8 8|k 8
N 8§ oRNRINIE aoow o F|8le S|g|S o|5|e S5 (g|e S |g|la © 9|x S
Q- Ty o KRBT TN TR R Q8| *I8|8 @ 23 8
al -
<
b=
fir
o SY o o ™ o] o o al W o
S 8 & ? 8 % % kY 8 S S 8 S
S S W oS (- ol S S 5 S S
o 8 n3 @l 88 3 3 - g g S .2 8
— Ka Rl =) Ql 0 9 S o) (=
Y ok mB|= < g8 8 ¥ « 2 T
. o Y S g & « =< (U
S ol oK = 38 m ok
a0 R S = ] oF m o
= TR 8 L =
F Rl B 5 |2 <F 0 >
= rt < mﬂ bl oo iy 0 K om |20
. Ho il at R = B of S
= 04 J @ |8 g W D _ s - K A S
= = = = <F =) RJ D gl M o ~ o~ =
A._ < m._ ok AT nE 30 I KE =J Kk 1l 4 - |.,A.._ oK
Floy.\ D Ik ol UH 6] ol =0 =0 oF KF =) 10 o o Em 1o UH
oF i W | - K K o |5 = A
oF |_|(_ = _ 3 = |- ® ® - 3| 4 i[d | wo /YR
) o|D o oD = - DD oy o 1o} N o |al RO | Dk ) — DD K I+ Uk H g
S T I N VA - |30 |3 SR E=R e = TR = [Dlao|zn 1 | = = [¥
= R m; o < o [ 70 .HAM OH |7 @ @ o~ o~ ) % KF | KF 4}_.| DD =0 2 0K [ OH 4_.mﬁ o|D 4_._..ﬂ ﬂﬂ WA..l_
R lzlor &0 o W R (=<|¥|S|mjor® ®a@ & |g|5 =< |or|lg <|mw|m ™ |m|z|do R |m|m KO K |
R |al=z = Mk WS |W(K gz & oF RO RO S imr U =z Hi<|< < o | ol [0 < <|< < = 0
* —|= O o O O s |== O O O O o= O ol Ol=|= O K= | oy O — = O @) N
oo S Tl oo oo oo oo oo oo Kk
X eV} w[RO[< | ~ Y] < HO | <
o+ R|=<|U 0 RO
= | il
=] "




2A: ASXE
B 28 FNSHEY(ELNSNL/NHLETA)
&2l SAIF=HEE i (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 701,857
SAIFAHEE EH| 1,024,440 479,100 545,340
= 330,000
Al 694,440
BIE HUIA 100,900 100,900 0
401 A& HIZLS0HY| 100,900 100,900
01 AlEHI 100,000 100,000
OBIEAHIAIS 100,000
oBIEAHHI(EAN) AL 100,000
03 Al CHHI 900 900 0
OEIEEHIAIY AR 0| 900
ST F=HIIR 305,540 307,200 A1,660
201 B2 AL 1,940 2,440 AB00
01 A=R2teld| 1,940 2,440 2500
ORSxuze SHEHIAS LS
70,0003 x6F *13] 420
O=ssFgae| 2A=Y 600
O3S AFNUEZS S IE ANRE
=il 500
OBEZNY MRS BHL
70,0003 x6F *13| 420
202 0441 1,600 1,760 A 160
01 =2LHO4 ] 1,600 1,760 2160
OBEFY B2l Y NVEE A2
100,000 *2H 23| ¥43| 1,600
307 212+01™ 2,000 3,000 21,000
12 QIZHOIIE N FH| 2,000 3,000 A1,000
O3 AFANUHES 5 uUxs | 2,000
402 QI X201 ™ 300,000 300,000
01 QX2 AIE B A& (XEMITHE) 300,000 300,000
O3 N 300,000
LT S3UUFE ANEIMEAS 550,000 0 550,000
= 330,000
Al 220,000
401 AIEHIZ20HHI 550,000 0 550,000
= 330,000
Al 220,000
01 AlEHI 550,000 0 550,000
OLZ SS2U=E AEME ALY
550,000,000& 550,000
= 330,000
Al 220,000
KIBBAIE S A EH A} 68,000 71,000 A3,000




2A:

bl
XM: X
[
£

o9 ZAFAEE 3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 68,000 71,000 23,000
01 Al&H| 68,000 71,000 23,000
ORNIBBAIE= AEHZA
40,000,000& *13] 40,000
ONBBAIE 2 FIIAHEFH (RS SFTH)
14,000, 000& x23] 28,000
AR AHIA WD 7,417 25,8% 18,479
As2e 7,417 25,8% 18,479
201 Ler23 | 4,417 21,144 16,727
01 At2t2ltl 4,060 20,876 16,816
OAEFIAS FHLY
70,0003 x29H +23] 4,060
02 S3=gl 357 268 89
Od=ssa2cIid g SH=ll
89,1602 x4 357
202 04| 3,000 4,752 A1,752
01 =LHOLI 3,000 4,752 A1,752
OsgA=z=E Nk &5
100,000 x2& %102 2,000
OH== oiMald - 50 sEEH
100,000 x2& %52 1,000
NASE deoty XA (ARSI Z4E2E) 2,902,400 2,837,868 64,532
= 2,212,700
= 293,030
Al 336,670
=PD|zdg 2& 2,897,400 2,837,868 59,532
= 2,270,200
= 292,280
Al 334,920
FHE A 2,822,000 2,663,412 168,588
= 2,257,600
= 282,200
Al 282,200
301 EtE NS 2,007,500 2,005,368 2,132
= 1,606,000
[ 200,750
Al 200,750
01 AR 2EHSHS(RNEERTH) 2,007,500 2,005,368 2,132
FHS04(1,3008) 2,007,500,000& 2,007,500
= 1,606,000
== 200,750
Al 200,750
403 X SHMSAH=01H 814,500 658,044 156,456
= 651,600




FA ASXE DL
M LSS MBOT NY(AMISNOIZLEE)
&l QD | =M 2 (EEEE))
SA - ZE - B2(30) - HRAS of v e HIDE2
< 81,450
Al 81,450
02 SIS0t 2 S A A 814,500 658,044 156,456
Ox=&S XS0 (130AICH) 814,500,000 814,500
= 651,600
< 81,450
Al 81,450
ZOHQI=ER JHZRALY 11,400 11,400 0
= 5,700
== 1,710
Al 3,990
401 AIEHIZ R 0HYI 11,400 11,400 0
= 5,700
=S 1,710
Al 3,990
01 AlZ8| 11,400 11,400 0
O OHI =& JHEALS 11,400,000& 11,400
= 5,700
= 1,710
Al 3,990
Y =HRX F=HS0H XA 16,000 12,000 4,000
== 4,800
Al 11,200
401 AIEHIZ R HYI 16,000 12,000 4,000
< 4,800
Al 11,200
01 Al&H| 16,000 12,000 4,000
OHATE s=d=7A =HSH K&
16,000,000 16,000
= 4,800
Al 11,200
HEEAN Al SEXE A 11,800 50,000 A\38,200
= 5,900
= 1,770
Al 4,130
301 LEetE N = 11,800 50,000 /38,200
= 5,900
= 1,770
Al 4,130
01 A2 HSHS(RNEETHE 11,800 50,000 A\38,200
OFEHM Al SEXAAML
11,800,000 11,800
= 5,900




SN ASXED
HE: HASS MBOIF X (MBSXDIZLERT)
o _7?:_AH§I—

Chel: D =ME BF EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 1,770
Al 4,130
HAEHS LUEEZ NI 31,200 101,056 A69,856
202 0idl 1,200 1,056 144
01 =LHO4b| 1,200 1,056 144
OFHEX 2@t HEE
100,000 *2H +63| 1,200
501 X2 30,000 100,000 A70,000
01 2I2t&X32 30,000 100,000 A70,000
OMAEHS dUES= XA
10,000,000& 37t 30,000
BIZANKH A=K OlAME] X 2,000 0 2,000
= 1,000
T 300
Al 700
301 LetEHZ 2,000 0 2,000
= 1,000
T 300
Al 700
01 AISIBE XG2S (2 LEXTME) 2,000 0 2,000
OHIEAAX™ H=Xt OIAHH] XI&
400,000& x5H 2,000
= 1,000
T 300
Al 700
QMERR FHIS HE0IAL XIJAASE 3,000 0 3,000
= 1,500
Al 1,500
301 LPENZ 3,000 0 3,000
& 1,500
Al 1,500
01 AISIBE XS (2 RETME) 3,000 0 3,000
OrIE28 FAHAHZ WE0IA XI&
4,000 *7500+7* 3,000
T 1,500
Al 1,500
Y MNESSLEES B3 A& 5,000 0 5,000
= 2,500
& 750
Al 1,750
A MNESZEEES 232 K& 5,000 0 5,000
= 2,500
& 750
Al 1,750




A AFXE
M HASS MBON NY(MISNOIZLEE)
o9l HU MNESIBES 252 A (crel: g)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
301 LtENZ 5,000 0 5,000
= 2,500
== 750
Al 1,750
01 AR 2EHSHS(RNEXRTHE) 5,000 0 5,000
O3d MNESE eet2s 258 X2
5,000,000& 5,000
= 2,500
== 750
Al 1,750
=EOHE SA3 OIXHEN XJ (&Y - SAIHHOU X/ & 50,000 114,000 264,000
HAE - &3
=S sXi= 0IX2d X2 50,000 114,000 64,000
FEIHE A= 0IX2d K& 50,000 114,000 264,000
307 212t01& 50,000 114,000 264,000
08 OIXtE2& = 50,000 114,000 264,000
O=8ig 8Xt= OIxt2A
50,000,000 50,000
HY2IZHI(ASXIED) (DIEHIIEL) 37,980 39,040 A 1,060
=&l 37,980 39,040 A1,060
JI23Hl 37,980 39,040 21,060
201 2= 31,680 31,680 0
01 At22t2l] 26,880 26,880 0
ORAM2g Jl1=3tl 320,000 * 122 3,840
OAREE FL(SAK 8)
200,000 * 122 2,400
O=AD| gitz 220,000& * 128 2,640
OEEARID| € A2F Y
300,000 x10CH =23 6,000
Or==i:] 8,000 x25FH x5« 12 12,000
02 S3=24l 4,800 4,800 0
epaz 40,0008 122 4,800
202 048l 1,500 1,560 260
01 2L AL 1,500 1,560 260
Oblaf2F 20
20,0003 x25 2 *32 1,500
203 SR =4 4,800 4,800
M FA2SLRFAI 4,800 4,800
ORNSgE =] 400,000 128 4,800
HRES(ASXNEHL) (SELXGNL/XNSLTAl) 1,000,000 1,285,842 N285,842
WRHHXIE(AFXE L) 1,000,000 1,285,842 N285,842
WRAHHXIE(ASXIH DY) 1,000,000 1,285,842 N285,842
701 JIEHRI IS EES 1,000,000 1,276,600 276,600
01 JIEteI B ES 1,000,000 1,276,600 276,600




A AFXEH D
3 HRSASNEN) (SELNAMNL/XALEAI)
eel: WRHAXIS(ASXED)
- - (=
S - B - SRA(SIH) - HSAY - BYS of et o

1,000,000,000& 1,000,000




